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- Part A (Obje'ective Types)
| Answer all questioﬂs from this part. .
| _ Each Bunch of four question carries a weight of 1.
| I 1 — _taxsare paid bjf the tax payer through an intérﬁledimy.
(a) Direct. - (b Income. |
vee (0 Indn-ect — (d) None of these.
2. . An assessee is equal to total tax liability d1v1ded by total i mcome
" (a) Maximum Margmal rate. (b) Surcharge )
(c) Average Rate oftax. (d). None of these. .
3." A company formed and registered under the Compames Act: A ]
 (a) 1946, - ) 1958. . - .
(c) 1956 @ 1eam L | -
4. 'Employer_fé contribution to a RPF over —_——— of the salary of the assessee :
(a) 10%. - (b) 20%. o - -
© 12%. d) 15%. '
1I. 5. Ifareceiptis rélated toa cﬁ:_'rent asset or circulatiﬁg asset, itis:
(a) Capital receipt. | (b) Revenue payment. - X
' (¢) Revenue receipt. (d) ~Capital payment g
6. is paxd at the time of retn'ement of an employee in consideration uf the past semces
(a) Pensmn . (b) Provident Fund. )
(¢) Gratuity. = - (d) None of these.
7. Income received in India i in p;'evmus year is taxable in the hand of ;
(a) Resident. ' - (b) Non-resxdent o - o
(c) Non-ordinarily resnient . (d)* All above. : -
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Expenditure on free meals to employeo in-excess of per meal will be treated at

perquisite of employee.
(a) Rs. 100. (b) Ra. 50,
-(¢) Rs. 160. ' (d) Ra. 76.
The following is not ‘i)lani:' w/s 43 (3) of the Income Tax Act 1961 :
(a) Books. | " (b) Know-how.
{c) Electrical fittings. (d} Road in the factory building.

In respect of listed shares held for 10 months sold on 12.8. 2010 the rate of tax in respect of
capital gains is : .

(a) 10%. . ' (b) 20%.
© 15% L 25%.
-Mr X gxfts Rs. 60, 000 to the HUF of wl:uch he is member, sald amount will be treated as .
income of : ) . .
(a) Mr.X. .~ (b) The HUF
(c) None, asitis exempt. . - (d) None of the ébqve.

The following is a excempt income :
(a) Travel concession to employee.
(b) Encashment of leave salary whilst in service. -
(c) Perquisites in India. L
(d) None of the above , .
Mr. L smgh used it in his business. This is the only asset in the block 20% of the usage is for

, personal purposes. The WDV of the block as on 31.3.2011 is :

(a) Rs.2,70,000.. - (b) Rs.2,55,000.
(¢) Rs. 2,10,000 | _(d) None of these. _ ‘ _ 9
The following is a capital receipt : ' : L

(a) Divident from investment.

(b) Bonus shares.

{(c) Sale of technoloéy'know-how. _

(d) Compensation received for compulsory evacuation of place of business. '
In an assessee earns rent from a subtenant in reapect to tenanted property letoutasa resuience,
the said rent is : '
- (a) Excempt under Sec 10. .

(b) Taxable under the head incon'm from house property.

(¢) Taxable as business income, as the letting out is cbmmercial activity, =

(d) None of these.
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Long term capital gains arising on compulséry acquisition of agricultural land held by a
domestic company within specified Urban limit is :
{a) Not exempt under Sec. 10 (37).
(b) Exceﬁpt under Sec 10 (37) in full. | .
(c) 60% of receipt is excempt under Sec 10 (87)-
.(d) None of these.

Part B.(Short Answer Type)
Answer any five ql;.estiqns'ﬁ'o'r_n this part.
- Each question carries ¢ weight of 1.

Who is an Assessee in Default ? _. -
How is arrears of rent received treaﬁed for tax burposes T
What is Block of assets? * L : o L
What is a converted properfy ? ' o | .
What is inﬁome deemed to be _recei\'red ? B s
bistinglﬁs];-between éapital and revenue expenditti:e: ‘
What is Tea Development Account ? | D
What do you mean by full value of con‘sideratioﬁ ?

Part C (Short Essay/Problem Solving Type)
Answer any four que.stidns from this part.
Each question carries a weight of 2.

Mr. Sandéep purchased a ho_use‘ proper:ty in 1978 for Rs. 2,00,000 paying 2% commission. He
sold the house during December 2007 for Rs. 30,00,000 expenses being Rs. 10,000. The fair
market value of the house property on 1-4-1981 was Rs. 5,00,000. Compute the capital gains.

Which are the interest income exempt U/S 10 (15) ? . .
Explain the tax implications of dividends. '
Discuss the conditions laid down for the allowances of bad debts.

Explain the term income as per Sec. 2 (24) of the Income Tax Act.
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‘From the following-information compute depreciafion allowance for the P.Y. 2007-08 to m/s

Latha associate & firm of chartered accountants in Jaipur. -

Assets as on 31-03-2007
Rs.

(a) Cars for professional requirements o 8;00,000
(b) Computers : .. 1,40,000 B
(c) . Furniture and Fittings . 80,000 - - i
(d) Office building . ... 10,000
(e) . Staff quarters - - .. 1,00,000
() Books purchased for professional -
| requirements: .

- () Annual Publication .- - .. 50,000 .

(ii) Others - : v - 80,000

A new computer was purchased on 10. May 2007 at a cost of Rs. 40 000 and anather one on
2 October 2007, for Rs. 30,000. Office building was sold for. Rs. 5,00,000 and a neW oﬂice
bulldmg was constructed in February 2008 at a cost of Rs. 10 00 000.. - -

: 4x2=8)
g Part D (Essay'l‘ybe)l -- 7 o
Ans@ér anf two questions from this pa;'t.
. Each question carries a weight of 4.

How is the cost of acquisition of an asset acquired on dlstnbutlon of capital assets ofa company
on its liquidation is computed ?
What is grossing up of interest of securities ? Explain how and why inpomes' are grosséd-up ?
Explain how is Residential status determined ? S |

| | (2x4=8) "
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